
×™ü¯¯Ö�Öß.—(1) ×�ú­ÆüßÓ ¯ÖÖÑ“Ö ¯ÖÏ¿­ÖÖêÓ �êú ˆ¢Ö¸ü ×»Ö�Öë…

(2) ÃÖ³Öß ¯ÖÏ¿­ÖÖë �êú †Ó�ú ÃÖ´ÖÖ­Ö Æïü …

(3) ÃÖã¾µÖ¾ÖÛÃ£ÖŸÖ, ¯ÖÏ³ÖÖ¾Öß †Öî̧ ü ÃÖ™üß�ú †×³Ö¾µÖÛŒŸÖ �úÖê ´ÖÆü¢¾Ö ×¤üµÖÖ •ÖÖµÖê�ÖÖ…

(4) ÃÖŸÖÆüß –ÖÖ­Ö �êú ×»Ö‹ †Ó�ú ­ÖÆüà ×¤üµÖê •ÖÖ‹Ó�Öê…

1. (a) ³ÖÖ¸üŸÖ �úß ¾ÖŸÖỐ ÖÖ­Ö ×¾Ö¤êü¿Öß ¾µÖÖ¯ÖÖ¸ü ×­ÖŸÖß (2009-14) �êú ˆ§êü¿ÖÖêÓ �úß (Objectives) ÃÖÓ�Öê̄ Ö ´Öë

“Ö“ÖÖÔ �úß×•Ö‹ …

(b) ÃÖ´Öß¯Ö-�ÖŸÖ�úÖ»Ö ´Öë (Recent) •ÖÖê £Öß ˆÃÖ †ÖÙ£Ö�ú ´ÖÓ¤üß (Depression) �êú �úÖ¸ü�Ö †Öî̧

¯Ö¸üß�ÖÖ´ÖÖë �úß ÃÖÓ�Öê̄ Ö ´Öë “Ö“ÖÖÔ �úß×•Ö‹ …

2. (a) 2011 �úß •Ö­Ö�Ö�Ö­ÖÖ­ÖãÃÖÖ¸ü ­ÖÖ�Ö¸üß�ú¸ü�Ö (Urbanization) •Ö»Ö¤ü �ÖŸÖß ÃÖê ÆüÖê ¸üÆüÖ Æîü, ‡ÃÖ�êú

ÃÖÓ³ÖÖ¾µÖ ¯Ö¸üß�ÖÖ´ÖÖë �úß “Ö“ÖÖÔ �úß×•Ö‹ …

(b) 1990 �êú ²ÖÖ¤ü ³ÖÖ¸üŸÖ �êú †ÖÙ£Ö�ú ×¾Ö�úÖÃÖ �úÖê ×•ÖÃÖ ÃÖê¾ÖÖ �Öê¡Ö­Öê (Service-sector) ²ÖœÍüÖ¾ÖÖ

×¤üµÖÖ ˆÃÖ�úÖ ´ÖÆü¢¾Ö ŒµÖÖ ¸üÆüÖ Æîü ?

3. ÆüÖ»Ö ´Öë ³ÖÖ¸üŸÖ �úÖê ×•ÖÃÖ ´Öã¦üÖ Ã±úß×ŸÖ (Inflation) �úÖ †­Öã³Ö¾Ö Æãü†Ö ˆÃÖ�êú Ã¾Öºþ¯Ö †Öî̧ ü �úÖ ü̧�ÖÖë �úß

ÃÖ×´Ö�ÖÖ �úß×•Ö‹ ŸÖ£ÖÖ ˆÃÖ�úÖ ÃÖ´ÖÖ¬ÖÖ­Ö �ú¸ü­Öê ÆêüŸÖæ µÖÖê�µÖ (Appropriate) ­ÖßŸÖß ÃÖã”ûÖ‹ …

4. (a) ×¾Öª´ÖÖ­Ö ÛÃ£ÖŸÖß ´Öë �éúÂÖß �úÖ ³ÖÖ¸üŸÖßµÖ †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ´Öë ŒµÖÖ ´ÖÆü¢¾Ö Æîü ?

(b) 1990 ´Öë ³ÖÖ¸üŸÖ �úÖ †ÖÙ£Ö�ú ×¾Ö�úÖÃÖ �úÖ •ÖÖê †­Öã³Ö¾Ö ¸üÆüÖ ˆÃÖ�êú ÃÖÓ¤ü³ÖÔ ´Öë ¯ÖµÖÖÔ¾Ö¸ü�Ö

(Environment) †Öî̧ ü †ÖÙ£Ö�ú ×¾Ö�úÖÃÖ �êú ™Òêü›ü-†Öò±ú (Trade-off) �úß “Ö“ÖÖÔ �úß×•Ö‹ …

5. ¸üÖê•Ö�ÖÖ¸üß ´Öë »Ö�Ö×�ÖµÖ ¾Öé¬¤üß �êú ÃÖÖ£Ö ˆ““Ö †ÖÙ£Ö�ú ¾Öé¬¤ßü (Growth) ÃÖÖ¬µÖ �ú¸ü­Öê �êú ×»ÖµÖê †Ö¯Ö�êú

´ÖŸÖÖ­ÖãÃÖÖ¸ü �úÖî­ÖÃÖß ¯ÖḮ Öã�Ö ­ÖßŸÖß ÆüÖê­Öß “ÖÖ×ÆüµÖê ?

6. ³ÖÖ¸üŸÖ �êú ×»ÖµÖê ¯Öæ�ÖÔ ¯ÖãÓ•Öß-»Öê�ÖÖ ¯Ö×¸ü¾ÖŸÖÔ­ÖßµÖŸÖÖ (Full capital account convertibility) �êú ÃÖ´Ö£ÖÔ­Ö

†Öî̧ ü ×¾Ö¸üÖêê¬Ö ´Öë ×¤üµÖê •ÖÖ­Öê¾ÖÖ»Öê µÖãŒŸÖß¾ÖÖ¤ü (Arguements) ²ÖŸÖÖ‹ …

7. 1990 �êú ²ÖÖ¤ü ³ÖÖ¸üŸÖ �êú ×¾Ö¢Ö-�Öê¡Ö ´Öë (Financial sector) •ÖÖê ¯ÖḮ Öã�Ö ÃÖã¬ÖÖ¸ü Æãü‹ ˆ­Ö�úß

ºþ¯Ö ȩ̂ü�ÖÖ ¤üß×•Ö‹…

8. (a) ×­Ö¬ÖÔ­ÖŸÖÖ (Poverty) �êú ÃÖÓ¤ü³ÖÔ ´Öë ×­Ö´­Ö×»Ö×�ÖŸÖ ÃÖÓ�ú»¯Ö­ÖÖ†ÖêÓ �úß (Concepts) “Ö“ÖÖÔ �úß×•Ö‹ …

(i) ÃÖ¸ü-�Ö�Ö­ÖÖ †­Öã̄ ÖÖŸÖ (Head count ratio)

(ii) ×­Ö¬ÖÔ­ÖŸÖÖ-†ÓŸÖ¸ü †­Öã¾ÖÖ¤ü (Poverty gap ratio).

(b) �ÖŸÖ �ãú”û ¾ÖÂÖÖì ´Öë ³ÖÖ¸üŸÖ ´Öë ×­Ö¬ÖÔ­ÖŸÖÖ ´ÖÖ¯Ö­Ö �êú ×¾ÖÂÖµÖ ´Öë •ÖÖê ¯ÖÏ×ŸÖ¾ÖÖ¤ü (Debate) “Ö»Ö ¸üÆüÖ Æîü ˆÃÖ�úß

“Ö“ÖÖÔ �úß×•Ö‹ …
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9. (a) ²ÖêÃÖ»Ö III (Basel III) �êú “ÖÖî�ú™ü (Framework) �úß ŸÖ£ÖÖ ‡ÃÖ ÃÖÓ¤ü³ÖÔ ´Öë ³ÖÖ ü̧ŸÖßµÖ ²Öï�úÖê �êú ÃÖ´Ö�Ö

ˆ¯ÖÛÃ£ÖŸÖ †Ö¾ÆüÖ­ÖÖë �úß (Challenges) “Ö“ÖÖÔ �úß×•Ö‹ …

(b) ×¾Ö¢ÖßµÖ ÃÖ´ÖÖ¾Öê¿Ö ÃÖÓ�ú»¯Ö­ÖÖ �úß “Ö“ÖÖÔ �ú¸ü�êú ˆÃÖ�úÖ †ÖÙ£Ö�ú ×¾Ö�úÖÃÖ ¯Ö ü̧ ÃÖÓ³ÖÖ¾µÖ ¯Ö×¸ü�ÖÖ´Ö ×¤ü�ÖÖ‹ò …

10. ×­Ö´­Ö ´Öë ÃÖê ×�ú­Æüß “ÖÖ ü̧ ¯Ö¸ü ×™ü¯Ö�Öß ×»Ö�Öê :----

(a) ³ÖÖ¸üŸÖ ´Öë ‘Ö™üŸÖÖ Æãü†Ö •Ö­Ö­Ö-ÃÖ´ÖµÖ �úÖ Ø»Ö�Ö †­Öã̄ ÖÖŸÖ (Declining sex-ratio at birth

in India).

(b) Æòü¸üßÃÖ-™üÖê›üÖȩ̂ üÖê �úÖ Ã£Ö»ÖÖÓŸÖ¸ü�Ö ¯ÖÏ×ŸÖ´ÖÖ­Öü (Harris-Todoro model of migration).

(c) ×¾Ö×¢ÖµÖ †¾Ö¸üÖê¬Ö (Financial repression).

(d) ³ÖÖ¸üŸÖ ´Öë ÁÖ´Ö-×¾Ö¯Ö�Öß ÃÖã¬ÖÖ¸ü (Labour market reforms in India).

(e) W. T. O. †Öî̧ ü ×¾Ö�úÃÖ­Ö¿Öß»Ö ¤êü¿Ö (W. T. O. and Developing countries).

(f) ÆüÖ»Ö �úß ´Öã¦üÖ Ã±úß×ŸÖ �úÖê ³ÖÖ¸üŸÖßµÖ ×¸ü•Ö¾ÖÔ ²Öï�ú (RBI) �úÖ ¯ÖÏ×ŸÖÃÖÖ¤ü (Response).
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CON 205 3

R. B. S. B. (R.O.—DEPR)
Panel Year 2011

PAPER II (DESCRIPTIVE TYPE)

[TIME : 09-30 A.M. TO 12-30 P.M.]
(Maximum Marks—100)

Instructions.—(1) Attempt any five questions.

(2) All questions carry equal marks.

(3) Credit will be given for orderly, effective and exact
expression.

(4) Marks will not be alloted for superficial knowledge.

1. (a) Discuss in brief the objectives of India’s current foreign trade policy
(2009-14).

(b) Discuss in brief the causes and consequences of recent world
economic depression.

2. (a) The 2011 census has brought out the fact of rapid urbanization in
India. Discuss the possible consequences.

(b) What has been the significance of the services sector as a driver for
economic growth in India since 1990’s ?

3. Examine in detail the nature and causes of the recent inflation
experience in India and suggest an appropriate policy response.

4. (a) What is the significance of agriculture to the Indian economy today ?

(b) Discuss the trade-off between environment and economic
development in the light of India’s experience of economic
development since 1990.

5. What according to you should be the major thrust of policy in order to
achieve high economic growth along with significant employment
generation ?

6. What are the arguments for and against full capital account convertibility
for India ?

7. Outline the major reforms in the Indian financial sector since 1990.

8. (a) Discuss the following concepts in the context of poverty—

(i) Head count ratio

(ii) Poverty gap ratio

(b) Discuss the debate relating to measurement of poverty in India in
recent years.
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9. (a) Discuss the Basel III framework and challenges faced by Indian

banks in this contex.

(b) Discuss the concept of Financial inclusion and its possible impact on

economic development.

10. Write short notes on any four :—

(a) Declining sex-ratio at birth in India.

(b) The Harris-todoro model of migration.

(c) Financial repression.

(d) Labour market reforms in India.

(e) W. T. O. and developing countries.

(f) R. B. I’s response to recent inflation.
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